
Basic Resistor Calculations 

Calculate the Total Resistance of resistors in series… 

 

Simply add the values of the resistors 

 

Total Resistance = R1 + R2 + R3 

 

If each resistor is 10 ohms, total resistance is 30 ohms 

Calculate Total Resistance of Resistors in Parallel… 

 

Invert the value of each resistor, and them together and invert 

the result.  If each resistor is 10 ohms… 

 

Add the inverted values .1 +.1 +.1=.3   (.where 1 = 1/10) 

 

Invert the .3 to get the  total resistance of  3.33 ohms...  

When you have combinations of series and parallel resistors, 

simplify the circuit by calculating the resistance  of each series 

or parallel group independently.  Do the paralleled resistor 

groups first… 

 

The 100 ohm and 50 ohm resistors are in parallel. 

  100 inverted (.01) + 50 inverted (.02) = .01 

  Invert .03 to get the total resistance of the two = 33.3 ohms. 

 

The two parallel resistors are the same as a single 33.3.ohm 

 

The series circuit remains with the 80 ohm resistor and the 33.3 

ohm calculated.  Simply add them to get 113.3 ohms total. 

 

Resistor 

Color Code Chart 

---------------------> 
If resistor only has 4 bands 

omit the third digit. 


